o

(=) Name
2 Iz'near ?unctz’on& - Functz'on Jable
© Score
FT:11:03
4 I
Complete the function tables.
) = X 2
X -2 10 -5 1
f(x)
2)  f(x) = 7x
X -7 -11 4 -9
f(x)
3) f(x) =x-4
X -1 -14 -8 -6
f(x)
Complete the function tables.
(%) %—1 2(15 - x) 3X+6
f(-22)
f(2)
f(16)
N J
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o

e Name
/ 2 Linear Tunctions - Function Jable
© Score
Answer key
FT:11:03
4 )
Complete the function tables.
) = XX 2
X -2 10 -5 1
f(x) 0 4 -1 1
2)  f(x) = 7x
X -7 -11 4 -9
f(x) -49 -77 28 -63
3) f(x) =x-4
X -1 -14 -8 -6
f(x) -5 -18 -12 -10
Complete the function tables.
X
f(x) 3 1 2(15-x) 3Xx+6
f(-22) -12 74 -60
f(2) 0 26 12
f(16) 7 -2 54
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